Ch26- AUTONUMLGL  
The solid line has length A and makes an angle ( with the negative y-axis.  What is the length of the dotted line?
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A:  A cos(
B: A sin(
C: A tan(
D: sin(/A



E: cos(/A

Answer: A cos(
Ch26- AUTONUMLGL  
A charge Q is on the y-axis at y = d.  What is the magnitude of the E-field at position x, on the x-axis?
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E) None of these
Answer: 
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Ch26- AUTONUMLGL  
The integral 
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Often, from symmetry, one can see that one or more of the three component integrals vanishes.

An infinite line of charge with linear charge density ( is along the x-axis and extends to ( (.   At the point A shown, what can you can about the x- and y- components of 
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A: Ex = 0,  Ey < 0

B: Ex < 0,  Ey = 0



C: Ex = 0,  Ey =+(

D: Ex = 0,  Ey > 0



E: Ex > 0,  Ey > 0
Answer: By symmetry, the E-field points straight upward.  So Ex = 0,  Ey > 0


Ch26- AUTONUMLGL   A circular ring of radius R,  uniformly charged with total charge +Q, is in the xy plane centered on the origin.  The electric field 
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 at position z = h on the z-axis, due to a small piece of the ring with charge dQ, is shown.  What is the magnitude of the field dE?
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E: None of these.

Answer: 
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What is dEz, the z-component of 
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A: dE sin(    
B: dE cos(

C: dE tan(

D: None of these.

Answer: dE cos(
What is cos(?

A: 
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E: None of these!
Answer: 
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